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Level 46

AQ: cerebral aqueduct proper
cic: inferior colliculus commissure
CSl: superior central nucleus raphé, lateral part
CSm: superior central nucleus raphé, medial part
cst: corticospinal tract
CUN: cuneiform nucleus
DR: dorsal nucleus raphé
ECT: ectorhinal area
ENTl: entorhinal area, lateral part
ENTm: entorhinal area, medial part, dorsal zone
ICe: inferior colliculus, external nucleus
IVn: trochlear nerve
LDT: laterodorsal tegmental nucleus
ll: lateral lemniscus
mcp: middle cerebellar peduncle
MEV: midbrain trigeminal nucleus
ml: medial lemniscus
mlf: medial longitudinal fascicle
moV: motor root of the trigeminal nerve
MRNp: midbrain reticular nucleus, parvicellular part
mtV: midbrain tract of the trigeminal nerve
NLLd: nucleus of the lateral lemniscus, dorsal part
NLLh, nucleus of the lateral lemniscus, horizontal part
NLLv, nucleus of the lateral lemniscus, ventral part
PAG: periaqueductal gray
PAGd: periaqueductal gray, dorsal division
PAGdl: periaqueductal gray, dorsolateral division 
PAGm: periaqueductal gray, medial division
PAGvl: periaqueductal gray, ventrolateral division
PAR: parasubiculum
PG: pontine gray
PIN: pineal gland
POR: periolivary nuclei
POST: postsubiculum
PPN: pedunculopontine nucleus
PRNr: pontine reticular nucleus, rostral part
RSPd: retrosplenial area, dorsal part
rust: rubrospinal tract
SCdg: superior colliculus, deep gray layer
scp: superior cerebellar peduncle
sctv: ventral spinocerebellar tract
tb: trapezoid body
TEa: temporal association areas
TRN: tegmental reticular nucleus, pontine gray
tsp: tectospinal pathway
VISp: primary visual area
VISpl: posterolateral visual area
VISpm: posteromedial visual area
Vn: trigeminal nerve
VTN: ventral tegmental nucleus
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